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INSTRUCTIONS TO CANDIDATES
BEFORE ANSWERING, PLEASE READ THE INSTRUCTIONS CAREFULLY.

Write Roll No. in the space provided on this booklet above.

Please shade the correct choice on the Answer Coding Sheet with the help of Blue or
Black Ball Point Pen. DO NOT USE PENCIL to darken the appropriate box.
Please write the Roll No. etc. as asked on the: Answer Codmg Sheet USING BLUE
OR BLACK POINT PEN.

'Phe Answer Coding Sheet, should be returned to the Invigilator as soon as the Exam
time is over and Carbon copy -of the Answer Coding Sheet can he taken by ‘the
candidate.

For each correct answer 1 mark will be awarded. For every wrong answer 0.25 mark
will be deducted.

Use of caleulators, cell phones, logarithmic tables ete. are strictly prohibited.

‘For any rough work, use the rough page given at the end of this booklet.

Please select only one alternative (A, B, C, D) for each question.
Please avoid overwriting or markmgs on questlon paper. :
The questions in English version alone will be taken as authentic, though questlons
have been given bihngually for the convenience of the candidate.
IDTERTEUNSEFHETEN GHILGaT ‘
A m@@mgm@ e, swey Qeg GHllLsemer GeuamnnTsli Lig &&ab.

sllairggnefia suflas ararenan oigparer @ gdd eps Cauafm(Hib.

swe Qeig dalgsrafld sfure ofmssrar sl fms Bab oo smawn Hp
umeonrullemy. Guamr o gafluge..am Bl ia)in,

sley Qalg euflens ereim Hmb erdven @llivGsamenyb aﬂma_‘g,‘e_;,rrmﬂa) @&SI_@G!TGITLMq. ﬁmm 2 devg

serwBp urdunuldm CueTTee srEpFeiD.

eflen_Ggmaner, Gg,rreq Cruibd (g bSeL G &y LLITE Gmmurrrrmmmrrmrﬂa_m guLeL-&s Gouan (Bib.

eflenL_ggrafler smiust srlfeanw Goiay srpgiuet THSSHEF GlEdeaeaLd.

@euGlaurg sfiurar sl s@n 1 wHiQueir G\.IEQI'EJ&SLIIJ {BHibd. Feupnen @m@.mw@ aflen_&@ub 0. 25
A OQUT anpasiLIHib. :
sroEGGolLE, GeaGurer, wL&ms oL cumansdr gpsaratapop Gsteumpigar mmmruu;ra;
THSEE edo FL g,

Gy Clgrmms aGagbd aripd) rulihs) Qm: i ¢ (Ban@IN LI 6, aﬁlemg,g,nsrﬂem aaL_Fubldd (Rough work)
uﬁfrpeﬂa;&w eAL Ol (ReiTer LESSS LWETLIRSSELD, o
geu@aunym efamedipEio, (A, B, C, D)-ufté gGaauid getrenm wl HGLo (Bgsrrsq Qi (Seusm@m

afleen donafleh G eropmieuamgCur, @hlliuangGur selliéEseyLb.

=g ikl a0 Qunyludléy acrer efanraaGer OflamrLLionirens) @yl gy b; Gsnm arpgtaulen G].Ier{ﬂera'na;
aﬁ]emrrasa;m [N G]mn'@]maﬂm G'Ia:rr@\mm W GEADE. ‘ :




[XYZ]

Match the following sites of Indus
Valley civilization with their findings
and select the correct answer from the .
options given :

(i) Harappa
{a) Water reservoirs
formed heré may
have been used to
store water for
agriculture

(i) Chalhudaro ,
' (b) Terracotta models of

‘plough have been
found here

- {ii1) Cholistan 7 _

(é)_ Almost  exclusively
devoted to  craft
production

@iv) Dholavira
‘ (d In the excavation
made during mid
1980's .ornament
- consisting three shell
rings, a Jasper. bead
and hundreds of

microbeads were
found near the skull
of a male-

Options : _

A () -d, (i) —a, () —b, (V) —c
- (B) @ —b, @{@)—d, i) —a, (iv)-c
(©) @) —d, (i) =e¢ ()b, @v)—a
D) @ -b, G)—c, (i) —d, (v)-a
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‘Which of the following is the busiest
waterway in the world?

- (A} Suez Canal Waterway

{I3) North Pacific Waterway

- (C) Panama Canal Waterway
. (D) North Atlantic Waterway

Match the following rivers with the
correct statements and select the

answer from the options given.

(i) Kosi

(a) Once known as the,

‘Sorrow of Bengal’

(i) Alaknanda
| (b) Also known as the
“Sorrow of Bihar”

(i) Damodar
(c) TFlows through - the
Rift Valley . -

(iv) Tapi
(d) Its tributary
' ~ Mandakini is also
called as Kali Ganga
Opi;ions :

(A) (@) —c, (i) ~a, {i1) —d, @v) - b ‘
B) @ ~b, (i) - d, (i) —a Gv)—c
© () —c, (i) —d, i) —a, (iv) — b
® @ -b, (@) ~a (i) -d, @) -c
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A) (@G ~c, (i) —a, (i) ~d, (v)—b
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The poison of a cobra affects which of
the following first? =
(A) Central nervous system

(B) Blood vessels and its linking

(C) Heart
(1) Brain

Pedology is the study of

@A) Soil

(B) Microbes
(C) Worm q
(D} Fungus

Based on‘the é\mount of Yolk present
the mammalian eggs are classified as

“one of the following type. Name it

(A) 'Micrlolecitha_l '

{B) Mesolecithal

(© Alecithal

(D} Macrolecithal

leading to

- Excessive appetite

increased intake of food is known as

.(A} Polyurea
(B) Polydipsia
(C). Polyphagia
(D) Polymorphia
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8. Maich the  following  poverty 8  @bdw dlen QUTEnLDEnILIS

alliviation programme of Govt. of SLHULGSHD Sl sms  Deumdlen
India with their aims. ‘ GrrésbisEnL. .6 tlummss)s.
(i) SJSRY A (i) SJSRY ‘
{a) Aims to generate wage (2)  &pmolypl uEdlsafld
employment for the poor au(LpLD Flmenm
unskilled people living in _ _ Ganig a;@ &G g}éma;rﬂé;

. r 7 :
rural areas Tl et galg 1) Gerene
QUILILIENLI 9_(THGUTEEG6U S

(i) SGSY ' S (i) SGSY

“(h) - Aims at creating | ‘ _ ' (b)  sw Gaueme sumiiy wHpid
employment opportunities 7 Handenad Ceueney epeotn
- both self employment and B pisaiis GCaene
wage employment in ' QUL ILyGaenaT
urban areas S N Lo
_ o (heursHlEsmd Grrésh
(i) SGRY , ' (i) SGRY
(c) Aims at improving the food . o (¢}  gmpsaen 2 amey LoH LD ‘
~ and nutritional status of -~ L Fsgiama| Flawsemer
~the poor = _ o @mmg@ggm (:g,&é;asm
" (iv) ICDC ‘ ' " Gv) ICDC:
| (d The govt. provides partial ) (@) ' L al_e_r,éﬁﬂé; @@é;a;@'ﬁs@'

"~ financial assistance to Self _  ouiidsafien gLpaLD, Ligsr 2_ge
Help Groups through S ' - iafEHDg) FarisD
banks S '

Options : L g Caieysar :

(&) (@)~d, @d)—b, (i) —a, (iv) ~-c ' tA) @) —d, (i) b, (iii) - a, Gv) - ¢ |
® O-b @)~d @)-c-a - @ @O-b D-d G)-c @) -a
© O-dG-c@-ba-2a (@ 6-dG-c@-bG-a

O @-bGi)-d, @) -ay-c O O-b G@)-d G)-a, b -c
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9.

10.

Which of the following statements are

true with regard to = Rashtriya

Swasthya Bhima Yojna

(1) All employees of Public Sector

and Private Sector
establishments . get these
benefits

() Itisa Health Insurance Scheme

(iii) This -scheme is for the benefit of
unorganised workers

(iv) In India 7% of workers will get
benefitted

Options :

(@A) (), (1) and (v)

B (@, (i) and (iv)

(C) (3 and (1ii)

) (i) and (iv)

Which of the following are true of the
"Keshava Nand Bharati case-Select
' the correct answer from the options

given?

(i) Upheld the 24t Amendment of
the constitution :

. (1)) Gave back the Parliament the

right to- amend.any part of the

constitution including

fundamental rights

‘ (i) Held that the parliament does "

not have any right to amend the
fundamental rights

(iv) Held that the parlian;ient does

not have the right to amend the

basic structure of the
constitution
Options :

(A) (1), (iii) and (1V)
B) @, (i) and (iv)

| (C) @), Git) and (v)
D) @), () and (111)
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11. The employees who are not included 11, flieunsg Froomg euqoybigen Gurjﬁg,

in the purview of the Administrative LismlUmenTE&eT wrem?
Tribunals include the following
_ category.
(A) Employees of the Supreme (A cdsbdoempd  wigd 2 wihd -
Court and High courts , werpgdlen Liewflwireriasr -
(B) Imployees of the Secretariat of (B) Gers sur whmbd Ungui FLIT
Lok Sabha and Rajya Sabha ' Qawsgdlen venflwimertser
()  Armed forces personnels : : (C)  @nrameucs Lerllumartser
(D) Al the above category - D) Cuhanmlw eréveor ‘
' WE ) o 1 T
12. Tdentify the statement which is not | 12, @hflurelen  gaevannd &smé;@‘ej,
true of the Comptroller and Auditor SemfldansWwrert (CAG) oD Hlw
General (CAG) of Ipdia. o , ) sppaefie  Qéeumbd  eHse &b
' - ' , Qo ngva? '
(A) CAG is not represented by any (A) CAG GBS @I SI@DFFHESTAID
Minisiry ‘ o R . A sseu0 LEEEILL afldma
(B) CAG's expenses are charged '~ (B) CAG-dr Qewoyser @pslumelen
under the Consolidated Fund of .. ' gawrdGLr L Adear S
India - ' - Qesellu@éme o
(Cy After a CAG ceases to hold his ‘ ) amw CAG siguws ey Qb
office, he is eligible for further - Npe @psu sirdlar S wEHCW
office only under Govt. of India -~ Serr(Hin Lian] SIOT SESTeTauiT
O Th_e CAG ..Audits the accounts ' {O) CAGwméd @n&wretien  wSSu
~ related to Consolidated Fund of - ‘ wHmin  wrfle - serErelGLLr L
India  and Public ‘Accounts of . A wpmd Quirms serEgser
- India in both Central and-State. - . . senflaems QEUJUJDLJ@B‘:]@QJ
level : . ‘
: 13.'_ Which test is used to predlct dengue' - 13, QRiEs smhFsme o ndCEi Grﬁﬁgéf
 fever? S . ‘ Congenar e HADE?
. (A) Dick Tes_f S _ - {A) s Camganer (Dick Test) -
(B) Widal Test ~ : B)  maid Camganar (Widal Test) |
(C) Tourniquet Test o . {0 LriefigaGeur. G&rr‘a_r,emm.
h . : L " (Tourniquet Test)
(D) Elisa Test | ' . (D) adler Gengenan (Elisa Test)

xyz) N 8 D



14.

15.

Who of the following is regarded as

the Architect of Indian Planning?
(A)  Jawaharlal Nehru
(B) Prasanta Chandra Maha‘lanobisl

(C)- Amritya Sen

(1)  Dhadabai Navarooji

Identify the correct match related to,

envircnment protection and select the

correct answer from the optlons glven

below.

(1)  Montreal protocol

(a} Emphasises on

protecting the future;

the present
generation should
bequeath a better
environment to ite
future generation

(i1) Kyoto protocol
(b) Banned the use of
Chlorofloro carbon
{CFC) compound and
-other ozone depleting
chemical compounds
known as halons

(111) Brundtland commission

(¢) Resulted in an
International
Agreement to fight
global warming
‘which called for .
reductions in
‘emissions of
greenhouse gases by
industrialised

_ nations, ‘

Options : '

(A) (@) —c, () —a, (i) —b

B) @ —b, (i) —c¢ (i) —a

(C) (@) —c, G)—Dh, (i) —a

(D) () —b, (i) —a, (iii) ~ ¢
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(B) Slyevnmg endly LDG]‘_H)Q)G‘T_F;ITI_CI]GTU

(C)  onblrgwur Cever

D) srgmuml GresCrmsd)

SOHIF G LmgsEas Q,e_r,rn_r'rurrsﬁ ‘
gtlwmes eflenanin’ Glemalmio eNmuus
Gorasaiies  @EHg  Compsboe
Cunmssaun.

B  wran Audeliubg ppeb

- (a)y

GU{IRHEIETED shaHlaneny
unglaTEs  auelunssdps
sHGumamsL SamapenD
<DISEH QU(HEISTQ
gawupaplamig phe
HHMIF GO GUIPIEIS
Cover(ty

Gi) AU LT @ULIGS (gpsou'a

(b)

GCermGrm. L @5 Gy

sriueiler 2 LCLTESMmS
genL Qeauicug), Ganmen
IDeRTL_av & len - glent
THUGSHHD Cougla

- Gamwiisdr, Caneernsear erar

PSS (DIELES LD
Fent_Glsu1geo

(111) ﬂ]u@nn_surrem_ sLilagieht
(Brundtland Commission)

()

GemdnwrsatinL
Breetiadl bl
Qeuaflsu@m usenid Gédvew
eumL|& @enpLiamme .
FHUGLD 2 s '
QeuliLnpuargena

- aflicdel sreuGrs
oL aTuigSans

ellpling Gaie ser

(A B-c @)

—a, (i) —b

®B) @ ~b, () -—c, {i)-a

(0 @ —c, (i) ~b, (i) -a

D) @ =D, () ~a, @) —c h
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16. Match the following with the words
giving opposite meaning and select
the correct answer from the options.

17.

18.

w
(i1) |
(i)
(A)
(B)

(C)
(D)

Enslave

(a) - squander
Misfire '

(b) emsncipate
Hoard

{c) succeed
L —b, (i) —¢, {il) —a
(i) —a, () —c, @) —b
(iy — ¢, (i) — b, (1il)y —a

(i)} —c, (i) —a, D -b

Find out which one of the following
explanation - correctly matches the

- word gi_ven below.

Stationery
(A) Not moving or changing
(B) DPaper and other writing
: - materials
(©) A floor of a building
(D) A place where something is

located

" Find out wliich- one of the following

explanation ¢éorrectly matches the
word given below :

Counsellor

A)

(B)

(©)
(D)

[XYZ]

A mémber of an administrative
or advisory body of people

A garment worth around the neck

A small entrance

A person who gives guidance on
personal and  psychological
problem

10

16.

17.

18.

QJW@&@&;@ sflwmen
ardliiaCurdene ellmius Csiresafla
Bohs CathlsGEs unmEse;b.

(i) FEmslave '

{a) sguander

ledrau(min

Gi) Misfire

(b) emancipate
(111} Hoard

(¢) = succeed
{(A) @) —b, (i) —c, (iil) —a
B) @O-a @)-c (1) — b
(Cy () —c, @) ~hb, (Gil) —a
(D}

(i) —c, (i) —a, @) —b

Ga;rr@éﬁa;uuLLLﬁ Qameaeyd@, Gebeumin
e eflengaibd aflwirs Qurpbanh?

Stationery

(A) Not moving or changing

(3) Paper and other writing

' materials ]

{C) A floor of a building

(D) A place where something is

located

Gar(ésin’t . QFndgiss, Wemamn
b eflendsd Fflwneg QurmbaLD?

Counsellor

(A) A member of an -
administrative: or advisory

~ body of people

(B) A garment worth around the
neck ' '

(C) A small entrance

(D) - A person who gives guidance

on personal and psychological -
problem




19.

20.

21,

Match the following and select the
correct matching from the opfions
given.

() Ramanujacharya

(2) Advaita

(1) Sankara :
(by Dwaitadvaita

(m) Madhvacharya
(c) Visishtadvita

(iv) Nimbarka
{(d) Dvaita

Options :

Ay (@ -—c, (i) a, (i) - b, (iv)-d
MB) @G -Db, Gi)—d, Gil) —¢, (iv) - a
(Cy @Y—bh, () —4, (i) —c, iv)—d
D) () —c (i) —a, Gii)—d, (v)-b

Which one of the following is not
correct? , .
(A) Alberuni wrote Kitab-ul-Hind

(B) Ibin Battutah wrote Taj-Ul-
Masajid
(C) Firdausi wrote Shah Namah

D) Amir Khusru wrote Tughlaq
‘Namah

The correct sequence of the dynasties

‘that ruled the Vijayanagar Empire .

may be selected.

(A) Saluva, Sangama, Tuluva,
Araveedu '

(B) Sangama, Tuluva, Saluva,
Araveedu

(C) Sangama, Saluva, Tuluva,
"~ Araveedu

(D) Tuluva, Saluva, Sangama,
Araveedu

11
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(&) @) —e (i) ~a, (i) ~b, (iv)—d
®B) (@) ~Db, () -d, (i) —c, Gv) -a
() @ b, Gi)~a, (i) ~¢, (v) —d
D) @) —e¢, Gi) - a, (i) - d, (iv) —b
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2-a-aififss

. B @bar vgrsr erupHwig 'g,xr% -
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(A)  sa@meur, FRIGLON, SETHEUIT,

Sl '

(B) sRhswm, Sl@5eUT,  FT(@HGUN,
<iraig _

(C) smgwm -~ FmEheum, &l@Heu,

(D) gleneur,  smEmeur, SO,
- eireial ' '
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22.

Match the following and select the
correct answer from the options.

(i) Stratosphere

(a} This layer reflects
radiowaves
transmitted from the
earth back to the

earth

(i) Mesosphere
(b)

This layer 18 above
the troposphere

(1) JIonosphere

(c)
predominates in this
region

(iv) Exosphere

- {d) Extends upto

80 km and
. temperature decreases
" with the height

Optidns : |
@ 6o (i) —a, i) —d, @b
(B) @) -b, Gi) —d, (i) - a, (V) - ¢

©) @ -d, (i)~ ¢, Giid) - b, (iv) —a

(D) @) —b, (i) - d, (i) —c, (iv) —a

IXYZ]

Hydrogen and Helium
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22.

Aemmeumid eflmiing Gareyseflds @mbay
sfluren  aflenenwig ~CambE s Sa0
o QummEseD. ‘
W GfUll_.GUGL_{TGﬁ).nDnIg]U.Jﬁ'
@  @Fs 2060 wise
S by
Sle L
Grrig G e Eanar
&mbuad 1 Bl&E .
ydluadlsdlmg
(i) BCevmev. Gt
®)  @ibpobbe
o CrrGumei
SllmEE
- Guogyerens
(i) wCeanmeh o ul9uwim
©  @pet UGS
pAmLTEREnILD,
afelluepd sflswrs
srearuBEng
(iv)  eréGavmavea i i
D) @bz 2106E 80 £.8
' eueny Bl Sflmes).
@i 21D
<iflaflss Hahéses
Qautiybleney
7 Gondlng:
AwLus Gatajser:
@ @-c @-a @) -d @-b
®  ()-b, @) d, (i) —a, @) ~c
©  ©-d G)-c, (i) —b, Gv)—a
(D) 1) ~ b, (i) —d, @) — ¢, (iv) - a

D




23.

24.

25.

- (i)

o)

Which of the following are natural
polymers? Choose the correct answer
from the options.

(i) Glyptal
Silk

(i) Protein
(iv) Bakellite
Options:-

(&) () and Gi) are correct
(B)

(C)

(11) and (ii1) are correct
(i) and (i) are correct

(iii) and (iv) are correct

,The _¢chemical formula of Marshals

acid 1s

@)y H,S,0,
® 0,
(©) HS0;
D) HS,0,

" Which of the following is/are stable?

@) LHe?
(By. ,He®
) ,He'
b)) | All are st_able

13

23.

24.

- 25,

leia (Mawere i m) 6 Gr (b Gpem)
@Qubeagwrar  umeliof? . el
dflpuug  Goiaselid  Qobal
sfliunenens Complshasad

() HeBi

() i@

1) yosw

(iv) - CuaseneL_

Hl(RLILECSHTaSerT |

@A) 6) wdmb (i) efwrans)

®) Q) wimb (i) sfurarg

© G wbmib Gii) sfuman

D) (il) wpmib Gv) shwrag
rfagd  oleida  Gadlufud
- HSG,

A H,S8,0,

(B) H,80,

(C) H,50,

D) H,5,04

e meseneuhmIeT erency HleneouImenensy?

Sy GHe
(B).- ,He®
(0 He!
D) magsd Qmauu__mmmm

[XyYz]




26.

* . Gandhiji’s

27.

28.

[XYZ] | | 14

“Vaishnava
part  of
was

famous bhajan
which  became
prayer .meefing

The
Janato’

written by
(A) Narasimha Mehta
(B) Kabir Das

(C) Sir Arabindo

@) Rébindra_nath Tagore

Which of the following does not come
under Direct Tax? .

- (A)  Income Tax

(B) Capital Gains Tax
(Cy Estate Duty

(D) Excise Duty

How do you call -the total value of
output (Goods and Services) produced
and income received -in a year by

- domestic residents of a (",ountry‘

including profits earned f)_fom. capital
invested abroad?

(A) Gross National Product -

(B} Guross Domestic Product

(C) Net National Product

(D) Net Domestic Product

26,

27.

28.

. au(pL_gdlen

SITH EI g ST gl ()b gal t GHed @lenm
euamEHLNs LTl Oul L “aelsqanTe:
geanCGaun”  aramm Mpdgsh Qubpm Lmesen
LITL80 WD eT(pG LIl L gy)?

(A)  mredlibws Gogsr
M) & Srgmen

(Cy b= ﬁliﬂ;_f;@g,rr

(D) pelipSymrs gﬁaw'r

Crrg..  euflufier &
Wleimeu(meuenelHOIET 6ray)?

GUITES!

(A)  aumpLomen suil

B) s < STU auifl

‘(C)- ClFrsg Siene aufl

(D) eréensev auil

G M _igey mé]t;ﬁeur’ra;aﬂabr, &3(
2 HLIGE
Qunplsafian Qurss wAHiy, wHoD

Greu

Slaufiger  QuPD  GuGLTEID  LHWID
Gaafiprhseafies apsed® Qe
palellBhal @eomid
Gleudanp eTeeUMDI SanipLILIg)?

dlanL &Gn

(A Qurgs Csflu 2 pusd (Gross

National Product)
(B) Gwrgs. oapri@ @ o puss
" (Gross Domestic Product)
©)  Hay Gzfw opusd (Net |
National Product) -

(D) Par sdp® opusd (Not

Domestic Prodﬁct) .

D




29.

- 30.

On 4th July 2012, CERN announced

" the discovery of a new particle which

is often referred as “Cod Particle”.

Identify the particle

(A)
(B)
(C)
()

Higgs Boson
Anti Proton
Positron

Teratron

Which of following are true with

regard to the factors responsible for

land degraidation in'India

7y

(i) Loss of vegetation occuring due
. to deforestation
(i) Organic farming and water
conservation
(iii) Extraction of ground water in
~ execon of the recharge capacity
(iv) Indiscriminate use of Agro-
Chemicals such as fertilizers
and perticide
Options =
(i) and (ii1)
®) @), Gib) and Giv)
(©) (), (i) and (i1i)
(D)

(i), (ii) and (iv)

29.

30

@)

mYeme 4, 2012-é0 CERN — “aiayen

giman eremmy Glowimle o @@ L&

T HEDETE

sa@lligbg  2liS5g!.

' SISFIGERET 60 LIITETLD SITGRTELD.

(A)  afléev Cumeuires

B)  oyeng u@UnLanh

(C).  uraSl_yrer

(D) Quylyer

EmBSlmelie Hleos EmPeysaman

sryanilse aeuharaDpier cTenai?
1) a;rr@ls-;‘smr' SIAGLgETTED
g,rrmgrﬁm;@rﬂéh Sl |
@mg‘)@ns&ﬁ Qurmsermed e
Couarmait  (penp  LHMID ;%nu
'urr@a;rruq

(1) ofsF G&@%LQLB Hwerrmed -
_ Bagpn fer Qe
(1) '

oqb WO géreﬂgi;' Glar;rrsi)a_ﬂ
P BEOTEN S 5CyT QublEadend e
aesQsresupy 2 LGLTED
- emUngEaieser

(A) (@) wpgid (@11)

®B) (@, (iii) npmid> Gv)

© @), D) wppd Gi)

(D)

(1), (i) wippb Qv)

([XYZ]




31, Mateh the following and select the 31, Yareugpd eflmlnsCaraysaiar QnbHsl

correct answer from the options given. " oflwres eflenLenwis CaibOsHEsaLD.
(i}  Article 32 ‘ : G) Qurgeld 32
(a) Empowers High ' (@) e wmbdoemmnisEnse
| Courts to issue writs i RN 6T
. O TRTL W30 Y
< flamd
, QULLICE ]
(i)  Articlé 139 : ‘ (i)  Gunged 139
(b) Empowers Supreme . (b) &e‘mf}élmehmggﬁ]ﬁ)@
Court to issue writs : QIR
for the enforcement - o Aeibsmer
of . Fundamental o QdlEQmiL ac
nglh_ts pamant 190010 S
:_ﬂ);r«;fj];s:rrng
| | - aphigdng
(iii) Article 226 o _ (D) Quirgieflg) 226
() TEmpowers Supreme (o) edebfoamsfns
Court to issue writs ) : &@gum,_'
for the enforcement ' ‘ o Aepwaer "5@% HD
of Rights other than S -
Funda-lmental Rights o mSAsi A
opepant . IApnllés
S HETTID
. aupm G
Options ; o ' N liiupGetagmer: .
(A (@) —c, (i) -4, (1) — b . (A) @O-c ()—a, i}-b
B) @-b, @ - (i) ~a B) @ -b, (i) —c, @) —a
€ @ -c, @)-~b, (i) —a (O @ —c, @) ~b, (i) —a
@) @b, () —a, (i) ~c ' (D) @) -b, i) —a, () ~c




32.-

Match the India Medal Winners of the
London Olympic with the event in

- which they won and select the correct

answer from the options given.

()  Saina Nehwal
(a) Boxing
(i1) Gagan Narang

(b) - Wi'_estling

(i) Mary Kom

() Badminfon
(iv) Yogeshwar Dutt

- (d)  Shooting

Options :

L@ o ) -d G —a, G-

33.

B @) —a, (i) —e, Gii) = b, Gv)—-d

© @-h, ) a,r (i) - ¢, (iv) —d

®) 6 ¢, i) - d, (i) b, () -

' Name the Kutchipudi dancer who

started Kuchipudi Art Academy in
Madras during 1963 and passed away

_ recently.

(A)  Nadaraja Ramakrishna
{B) Vempati Chinna Satyam

. (C) Balasaraswathi

(D) K.J. Sarasa
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32.

33.

@DE@G_’-‘@'—DWQ’T ‘

@pdwreild il Geudmeniaamen

@ ai @alibdsda aps Hapai .

Qeuampniiser  eremugilaw,  Seheu(HLd

aflmliing  Coreysaar  LweLHSS
Qunssab
(1) etrru'_aeurfr Crpeimeumed

(a) GHBIF st
(1) s HUHE | |

Ab)  wewgsb

| (iii) GufGsmh

¢y  wriliSen. em
(v) - GunCeaeyalf 56
@ gounsd
s(hse
aﬂ@uug Gaae|mer :

@ @) -c, @) ~d, (i) -a, () ~b -
B @-a, G)—c, () - b, Gv) -d

© @) —Db, (i) a, i) —c, (v)—d

@O G@- c, @ii) — d, (iii) - b, (iv}—a

1963~y
@y i
Qg)rrL_réJa‘i]uJeﬁ@Lb,

@éﬁqulq_ BL_G¥td;

sevevgsien QuwQpenen?

- (A). B padlmeigenm

(B)  Genbui'.ig. flemen Fwnd

(©)  ure sgsveud)

D) K. aper.

[XYZ]

6)_I®L.Lbl - Qecnananuiid
'g{a;rh_@ T
sBugHa




34,

35.

36.

37.

Find out the word which 1s an odd one
out from the following '

'(A) picturesque
(B) attractive
(C) prosaic

(D) _charmiﬁg '

following :

(A) Gratitude
(B) Mattress
{(C) ‘Hexogram

(D) Interpret

(A) Paradice
(B) Decorate -
{C) Fragrance

(Dj Cucu'mber

() Tmmutable

@
(i) Haphazard
)
(i) Evasive

. (c)

Optioné :

" Find out the mis-spelt word from the

Orderly
Direct

Changeable

@) ) -a, @ —c, i) —b

B @—c G- a, (i) - b

€y -5, @) ~c (i) -a
@) B b, (i) -a, (i) -c

XYZ]
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34.

35.

ae.

37.

Gerpéesuul{Herer

Qzmraduie G&Urrg_ﬁ

seirlg o).

(AY ﬁicturesque :

(I3 'lattractive
(G érosaic

(D). charming
TpSEI
sam (955610,
(AY Gratitude

(B) Mattress

(C) Hexogram

(D) Interpret .

(4) Paradice

| (B) Decorate .

(C) ‘, Fragrance

() Cucumber

()  Immutable

(a) Orderly
(i) Haphazard

Henlp o erer

Glarpaater
Qamsvadl en e

Qendencnsd

() Direct -

(iily Evasive

eflapliLg Cameymer :

{c) Changeéble -
@A) @O-a ()-g (i) ~b
B @ ) -a, i) -
(€C) (D) —b, (i) ~c, (i) -

b

-3

D) @b, @)~ 4, (i)~ o




38. Match the following and select the

39.

_correct answer from the options given.,

) D.P. Agarwal
{a)- Central Vigilence
Commission of India

(ii} Shri. Pradeepkumar
(b)  Chief Commissioner -

Central Information
Commission

(i) Shri. Satyananda Mishra -

' (c) -Chairman, National

Commaission for
Scheduled Tribes

(iv} Shri. Rameshwar Oraon -
{(d) Chairman, Unicn
Publie Service
Commission
Options :
@) ) -d, @ -b, G —a, Gv) ~c

(B) @)=, (i) —c, (i) — a, (iv) ~d

© @-d G)-a, Gi)—b G -c
D) @b, G —c, (i) - d, (iv) - a

Which of the following state have
set up Lok Ayukta an Anticorruption

- Ombudsman Organization? Select the

correct answer from the options.

(i) . Tamil Nadu .
(i)} Karnataka
(1ii)) West Bengal
(iv) Haryana
Options :

#) @ and (i)
(B) (i) and (v).

(© (i) and (iv)
D) (@) and (ii) -
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38.°

39.

' allpliug Gaireyse :

Gereumevareupenn  aflwner  eflmliLig
Gairameus CHTBEBESHIL HUTGHHaD.
0 D.P. osmaune
(a) QEbswumseien wadw
A QlIemTiTa| 5 @(p
() oG8 @orr '
(b)  pseTentd SLenaTILIT
B s g
(1) uf sswreths Weavgm
0 upRigguland
Csdus Gups

SENEEUIT

(v) L urr@mdueur'r@urre&r
(dy smaeur, weaflwe
1 wafls eirelen

.'aELIS]Qq:GE)T

(A) () —d, (i) =D, (if) - a, (v) —c
(B)  ()—b, (i) ~e¢, @) —a G¥)-d
(©) ()—d, () —a, Gi)—b, Gv)—c¢

D) @b, ()—c, (i) -d, (iv) -2,

ﬁ]éﬂeﬁ@lb aps wrflen Gand ey sst
erastanih earoq|&@adyre
QDU G006t SfeninlienLl

IEDIDEGIcTen g ? - Weraimd  eSkmLULS
Caioysand Qs sfunar elenLamuis

GHMBEsHEseLD-
M. slipprl

(i) siBTL&D
(i) CuopEeutisrerd

(iv) anfwmer

e mousCaiase :

@ @ wpgd G)
(B) () whmd (v)
© (i) wpgid @)
®) () whpgid (i)

XYZ]




40.

. 41,

D)

)

Which of the following statement is
correct about Alpha rays?

{A) Alpha rays are positive charged
helium nuclei
(B) The charge of Alpha ray is
~ +1unit _
" {C} The penetrating power of Alpha
" - rayis high
Their kinetic energy is very low.

Match the followirig and select the

correct answer from the option given.

()  Zaid Season
(a) Rice Jowar, Bajra,
Maaze, Cotlon,
‘Soyabeen, Groundnut,
Jute, Tobacco ete. are
important crops

Rabi Season

(b). Extends from March
to June

@ii) Kharif Season
- (e) ' Wheat, Barley, Gram,
Peas, Mustard are
important crops

Options :

(A (@) —a, (i) —c, Gi) - b
B) () —Db, (i) —c, (i) — a

© @ -a, ()b, @) -c

D) (=D, (D)~ a, (i) ~¢

- XYz
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40,

41.

@

B0 oI adligdar  uHdlw  Geesmid
sabmisseiicr aflwneang) org?

GOSUT,  sdlisaT  eramLgy
. GemblareprlL & Qadley  Qubm
afelun Slusaflenw
B e sdlfler Cedle| +1 i E
(C)  dlur sdifier oorpimey men
=iflab
D) owpdler Quis opnd 6

Genmay

- Weraumid eflmrus Goraysatier @lmibal

silwmén  eflenenuis Gg,rrm@g,@‘e_r@u
Wummgse)b

()} Qegudll ugneuth

(Zaid Season)

' (@) =fd, Gareurt,
LTSI, LDEHTE

- Gerarid, u@‘&;ﬁ:'

Gomwsm e,
ﬁ;]eugasl_emm FETED,
Lensullenay apseSlwuie
p&EIWL LudlTEer

(ii} malLmed
(Rabi Season)
®) s apsed gOen
‘ auany Hly.&élmg)
(i) &mll LHeD
' {Kharif Season)

() Cangrenio, Limied,
GL_ane, UL L mewfl,
. 6@ ey
: '@s;sam vufrser

el L. Coireymer :

A @) —a, () —c¢, [ — b
By - ‘b, (i) ~ ¢, (i) — a
(@) @) a, () b, (i) —c

(D) @) -Db, () —a, i) —c




42.

43.

44.

Which of the following is not correct?

(A)

B) -

(©

(D)

' National Youth Day is celebrated

on 12th January every vear

Martyr's Day is celebrated on
30th January every year

United Nations Day is celebrated

- on 26th October every year

Human Rights Day is celebrated

on 10th December every year

IBM 4300 series, 308X series are

examples of which computer?

(A

®)

(©)

)

Micro Computer
Mini Computer
Mainframe Computer

Super Computer

Choose the Empirical Formula of

Benzene
(8) CH,
By C,H,
() CH
D) GCH,
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42.

43.

44,

(D)

(D)

Eleirau(mid eThs cpeimn) e mmarg) ?

@lenergprser  Semb,

‘euleuny eumLapo merantl 12

(A) Gsu

2pb Cad Qamemm. rLLuGHDg
(B) Surdser - Hand,  @eubairm
aumLpid speiauil 30 b Gapdl

2igmsflssnbidmps

©) gédu piGediar S,
@euQeur( eumLpld SIEGLTUT
26 <D : CS;_IJQ
Qameim e UGS ng
el o _flenloser Hlewbd

e Gy GU@;@L’[I: gy 10
St Gl Qe UG s

IBM 4300 &fiev, 308X Afenr Geneu
a;r‘r_'r;g;r; cueng sty | Mer o gryerrib?
(AY  eoaCam sbliy i

(B) Lm'asﬂ BIDLILL LT

(©)  Guowliern o 9Cyib Sib Lt

GO SDLIELC LT

Quenflaiien  enpQfsasc @gﬁ\uﬁﬁ_iq_smm ‘
(Empirical Formula) a9 sseab.

Ay Gl
- ® CH,

© cB

® CH,

XYZ]




45.

46.

Match the following and select the
correct answer from the options given

_below :

(i) - Tathvabodhini Sabha
(a) Gopala Krishna
(Gokhale -

(i1) Servants of India Society

() Madam
IL.P. Blavatsky
(ni)) Theosophical Society
"~ (¢) Henry Vivian
Derozia
(iv) Young Bengal Movement
(d) Devendranath |
- Tagore
Options : _ |
A () ~a, (i) — d, @) ~c, @) — b
(B) () —c, )b, (i) —d, (iv)—a
€ @ —d, Gi)—a, di)—b, @v)—c
M @b, Gi) —d, (i) - a, @) — ¢

Who said the following?

“By Independence, we have lost the
excuse of blaming the British for
anything going wrong. If hereafter
things go wrong, we will have nobody
to blame except durselves”. -

- (A) Rajaji
(B) Dr. Rajendra Prasad -

(©) B.R. Ambedkar
(DM  Jawaharlal Neh'ru

'[X_YZ]_ ‘ o

45.

46.

ﬁ]eﬁrﬁu@@m@ﬁ)mg}u Qummsseb.
Hereumd efimpplugsGaneysaflady @ mba

- Fllwrer elieni_enwig CaMBE S0 GasaLb.

i) ssauGundadl sur
- (a)  Gamume fmeiyenr
GaraGa
(i) @pdu Goousiser sitisibd
(b CGorb HP
] , Sareumt” v
{iin). g‘,]yn@&_ﬁlﬂ&@ FanL
¢y Qamendd aﬁlaﬂm%ﬁ ,
- QL Grmausm
(iv) @eneru cuiismer @u1&sLh

@  GsGoaupdypns sred

o\ 135 Caraysa
(A @ —a, (i)—d, @{d—c @Gv)—b

®) ®-c Gi)—b, @) —d Gv)—a .

) ©O-4, (ii):.— a, (i) — b, @v) ~ ¢

D) @ ~b, (Wy—d, (i) -a, {iv) ~c

Glareu(pe. enaHenma s g wimi?

Cagpipdb CubmsET gpaiD, B Br.ig.d

(ent]
2B AGowmrs Gerpaagid eumiindenen

D GG SEUMIGETHESTS  BID

Euigedl Glmb.  GlalGuod  oGsenibd

B PLBETD Fhaind Gon sblé

Osreatauengd g6y  Bmbh  Gedb
fameughHEGam wnsLildeama
(A) Gyl |
B) s grCandy ﬂg@mrrg,
(@ B.R. sibGusst
(D) @m@mﬁwm CpD
: Dr




47, Name the captain of Kolkatta Knight  47.

48.

49.

Riders who won the 2012 Indian

. Premier League.

(&) " Virender Shewag
{B) Gautam Gambhir
(C) Mahendra Singh Dhoni

() Virat Kohli

Name the city where the 10th Pravasi 48,

Bharatiya Divas was celebrated on
9th January 2012,

(A) Hyderabad
By Jaipur
(C) New Delhi

(D) Lucknow

Name the 14 yr. old Indian child = = 49.

actress best known for her Television
advertisement and films who died in

" the plane crash on 14th May 2012.

(A) Geeta Sachdev

(B) Taruni Sachdev .

N (C) Arorél Sachdev

(D) Latha Sachdev
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2012 - @emgudn ORBui i

Qeusmp Qandsssr bl e Tale

- Gall e Quiwm eremmen?

(A)  Crpar Cageasrs

(B) Qg s
€y vGanpdr Nk Gonei

(D) &ltpm Camedl

sareudl 9,

2012 e
Qamemremoul L 10eug  Egeumed .
umpdu fesdy  aps  pergdd
Qanemm il e g? ' '
(A)  manggTung
B) Qe
(O LsQLad
D)  wsGenn
Sl _bisefgib, - Qg,rrmwé;&r_niél
eflembuy’s  uLdmsal@d - Bigsgd

yepbupn, Guo 14, 2012-6» eSipmen
ugdler @mibg Guirer 14 euwgrer
BsHus Gpbeos plosdrpfa Quui
GTEYTEnr? ' o

(A)  Ssrs5Gael

. (B)  srmenil £5Gs6u

(C)  =Cymyr s5Gg6 ‘

(D) warasGaeu

XYZ]




50,

51.

52.

The sum of the number and its square 50.

is 90. Identify the number/s from .
below and seleci {he correct answer
from the options.

Gy -9 @G -10
uy 10 . (v) 9
Options :

(A) Option (i) is correct

(B) Option (iv) is correct

(C) Options (i) and (ii) are correct

(D} Options (i) and (iv) are correct

In the following rational numbers 51.

which one is the smallest?

@) _%

() ~_1—83

© =

®) f%

The Administrator of a Umsion 52

Territory is appointed under which

provision of the constitution?
(A) Article 243
(B) Article 232
() Article 239
@ Article 241

XYz - | 24

G eTeTantlell S(NHE IDHMID  HHe
euidsih 90, Aemeumid  eflgpliug
Geireyaatiey  Qmps  siuQeierr /
.gqeh@mm’rresemmése&w@tﬂtq_és&mm.

@ -9 @iy —10
) 10 (v) 9
Gﬁ]@u.uré; Caiayeer ;

A)  elmpuug GCarey (1) sflwreang
B)  efigmlug Cairay (Iv) sflumarg,

(O Amius Coitay (1) b

(i1) sifteimang|
D) efrius Caiay (i) b
(iv) aiflutneog, ‘

Qe sfeSHg eramsendr ety BeF

Afug?
w =
® 5_%
© %
™ =

whedlwerr 1RyCrogherr Hlaaund oipuic
apg  efifuller S
BludlssiuEpmi?

e Gla

A Quirgiellf 243
(B Qungefd 232
(©) Qungedd 239

(D) Qurgiefd 241




53.

- R4,

Match the regions of Puducherry U.T.
with -the year they imtially came
under French occupation and select
the correct answer from the options
given.

(i} Puducherry (a) 1723

(i) Ka}éikai B 1725
'(iii) Maher © 1674
(iv) Yanam @ 1739,
Options :

(A) @) —b, (i) —a, (i) —d,-@v)—¢ -

® @ -c @{)-d, i) -b, @) -a

© @ —e (i) - a, (i) ~ d, Giv) - b

D) @) -2, () -b, @i)—c, (v)-d

Which of the following athelete .hnn
won thel largest number of Olympic.

medals so far?

(A) Michel Phelps

B) Boris Shakhlein

(C) Takashi Ono

(D) 7 Paavo Nurmi |

25

(O @ -—c (D) -a, (i) - d, @) ~b

hi.

HalEGetl  upefivien Wy Gaagdlen
UGdleser (PBET(PSHOT S
<l AQTErasaTrTaatan <y enansudar SLp
Qarert(Hauyuu L. QU(HLTEIGED eI
sam (RS  Gemeu(mid
algpLuEGatajsafla Bobs!
CaipCsOsa AUTGsEs.

() uzEGen - (a) 1723
(ii) STENTHETED b 1725
(i) wrCap © 1674
Gv) wremb @ 1739
eﬂ@ﬁug@gﬁm&m :

(A) ) —b, (i) - a, (iii) - d, (iv) —¢

® @) —-c () d, (i) — b, (iv) — a

| D @ -—a, G —b (i) —¢, (iv)—d

Wememib ahg elaarim’ G aSgi . oflm

Sjerafile cpefib19E

Weugmm)eremmir?
A) @it S@ubid
B) Guafle smsedler

(©) sanadl gGann

D) unGeur mird

XYZ]
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55. Match the following words with their

exact meaning and select the correct

answer from the options given,

(@)

)

FFamous :

(a) Conveys the idea of
being recognized by a
large number of
people but generally
lacks the glamorous
connotations

Ceélebrated
(b) ' Sugpests someocne or
something is well
known about and
admired by very
- large  number of
people

(i) Well known

{¢) - Suggest that some or
something is much
" talked about and
praised

-Options : o

(A)
®)

- (O
()

(i) — a, (i) ~ b, (iii) -

@) — ¢, Gi) - 4, (i) —b

@)~ b, (i) — ¢, (i) — a
()Y — e, (1) = b, (i) ~a

56. Find out the word which is an odd one
out from the following

(A)

(B)
(©)
D)

XYZ]

glanderous

defamatory
malicious.

perseverance

26

55.

56..

Qeraumn  QemhaeEnag ladafuimen

- Qurgener  Qar{dasiiu L. afmiiug

Caiegertle

QuirgsggeLb.
(1)  Famous _
' (a} Conveys the idea of
being recognized by a
1arge number  of
people but generally
lacks the glamorous
connotations
(1) Celebrated
(h) - Suggests

Babs  Coipls Ol

someone  or

something is  well
known about and
admired by  very
large number of
people

(iii) Well known
({¢) Suggest that some or
something  is much

talked about and .

praised
eflmLliug Gpieyser : -
A (@) —a, (i) —b, @) —c
B) () ~c, (i) - a, (i) — b
© @G)-Db, () —c, Gi)—a
D) @) —¢ (i)~ b, Gi)—a

Qemhaafie .

QamHéslut_[Hemer .
Cgrgduier  Cagng Qendellenan
e;sﬁm(atﬁ]qéaaasq;b.
(A} slanderous
(B) defamatory
(C) malicious . ,-
) persevérance
D




59. . Which of the following is not true?

58.

(A Members of Legislative Councils
have the right to vote in the
Presidential Election

(B) President cannot promulgate
ordinance when the parliament
is in session

(C) The President can nominate
12 members to the Rajva Sabha

and 2 members to the Lok

Sabha

* (D) The President can declare war

and conclude peace with the
approval of Parliament

Match the following Constitutional
Amendments with the subject that

deals with, Select the correct answer
_from the options given. '

(i) 73rd Amendment -
(a) Right to
Education

(i) 86th Amendmrernt -

(b) - Cooperatives

(iii) 97th Amendment —
(©0 Panchayat Raj_

Options : _
@A) @ —c, (i) —a, @) - b
B @-b, @ —c Gi)~a
© @ —a, ()—c, Gii) ~b

@ @b G e, (WD e

57..

58.

Wlaraumeu eTeu D mieT Gr;r)g,

@eriy)
Gl nneben? '
(A)  GiQUrss SE@e(BEETET |

®)

(O

(D)

(iif)  97aus Hmssd -

Caigeiler L enm Coe sianey
o pudlenraer @l (hiflenw -

Hdummierarentt

umprEhoanD  s@UiLg  Cgmid
BanLGlumd Gurps, Gulurss
HENARIET ST FLL_ID
Aotnlsas @ueng

BWITEE Senaeli 12

-2 pndlenT&anerT, FrspiL |

sumelli LD,
2 2 pilifentsenar Gams
el @i UABEGI®TSES (1piguLd

Slo LN GG HEneveuT
LIMpr@BLoenn & a6 eLiL|SepL e
Wl (Gw Gunenywlh T
Sienodlenwiyid Sifledés @pig.uLb

st nemy Sigdmbgrisemar gL e

Qgm_rLiwen G Grgp11) (T 6T
Qunpord. - |
W) - T3eug Amssn -
' " (a)  sevel o_feno
(i) 86eugy Hmssbd — 7
- () sl Gy
u;b;ﬁ]mg.j

(©) ueETLssl

IRERILILD .
eflgptig Gairayser : . N
A () —c, () —a, (i) -b
B) B -b, Gi)—c, (i) -a
() (@) —a, () —c Gi)—b
(M) @) heG)-oa, GiD e

[XYZ]




59.

60

A mew version of its online trading 59.
. software called National Exchange of

Automatic Trading (NEAT) has been
launched by one. of the following
agencies. Identify the agency.

(A) NSE

(B BSE

(C) DOLLEX

(D) CRISIL

Mateh the following Authors with the 6().

book they have written and choose the
correct answer from the options.

(i) Ramachandra Guha
(&) 'The Cify of Joy -

(i) Nandan Nilekani

(b} - Nine Lives
(iii) Dominique Lapierre
. (c) lmagining India
(@v) William Dalrymple
(d) India after Gandhi

Options :

(A @b, (1) —c, (i) —a, (iv)—-d

® @-c Gi)--a ()b (v)-d
(C) (1) - da (11) ) (111) -4, (IV) -b
@) @~ d, @) —c, @)~ b, (v)—a

xyzl o - 28

Fawtlall (LPEILD MEm aShurrmy
Qusn@Quirgseflen Hydlw Lirewil,
sraflubd euraflu Csélw uflwrhmd
[(National Exchange of Automatic
Trading =~ (NEATH]
erammenip&sILdng  Glg  WeTeumid
aTis Fmeuensgre Asr risliul Lg?

(A) NSE

(B) BSE
(C) DOLLEX
(D) CRISIL

&TQIID  TULEETETTH@ET LG THET

CapBul L SssRiGEEL.ar, - DeTaimn

siipius  Cuieysene LwsiL@SSH0

- Gurmgsayd.

(i)  grwEsbdy Ganr

(@) &y =yl mmi . }

(i) - phger BotGesad
| () eoper
(i) Lmlefs Cadlwi
, | () @uwrsleins Gebgunr
(i)~ efldeSlund Ll
(d) | @eng.wim
bl

S o ILIT

B @b, @ —c; (i) - a, Gv) - d

B) () -e, (i) - a, (i) ~ b, (v)—d

(©) () —d @) —c, Gi)—a, Gv)—b.

@) @ -d @-c @) -b, @) -a

D .




61. Which of the following statements are

62.

63.

correct about electromagnetic waves?
Choose from the options. . '

(1)  They do not need- a material
mediwm for their propagation

(i) They need a material medium to
propagate

(it} They are called elastic waves
due to their propagation

(iv} They can travel through vacuum
Onptions':

(A) (i) and (ii) are correct

(B) (i) and (i\_f) are corvect. |

- (C) (i), (iii} and (iv) are correct

(D) (1) and (iii) are correct

The vaccination DPT sta'nds for

(A) - Deﬁgue, Pylaria, Typhoid

® Diphtheria, Pertussis, Tetanus

(O Diphthe_ria, Polio, Tetanus

- (D} Dengue, Polio, Typhoid

In the’ sal_ts mentioned below which of
the following added to ice to get lower

~ temperature than 0°C? -

(A) Nacl
By NH.Cl
(C) KOH

(D) All the above

29

61.

62.

63.

Fl=ar:31y 58 SIEaIEaeTL] Ll
Uleeu(BLd FaiyISa@heT FihITarg) erd;?

eflpLing  Ggheysefalmhs)
GehAs@asab, '

(1} iducuemasar urj@@ugg')@

‘ Qurf@m oart_gh Caueneuiu_mg ,l

{ii) @1@@1@5@)55?7 ugsﬁmg,rj)@
Qummer 2ar_sb Ggane |

(i1}  PICUBIEDHMGET uum@&mrrsb 255

Sieneraer L4 Bjenerser eremm

: <EPLRES II(HILD
(iv) =eneu Oeunlsder eufluirss
- Gedogud
afmrig Galraysen

@A) O wipw () shurarg
(B) () indmih (i) mﬁu'.m@ .
(C) (@), ({ii) wpmib (iv) efluners
(D) (1) anm (i) efureng

DPT eremand sy @B 6Ths
cAfenssin. '

{A) QI_rE‘.I@l, eouGaflum, el omi@ |

(B wusfwr, Quiaiieda,

. Qi emay ‘
(C) u}ule_%rﬂmrr,currc&@u_m, QL _awmen

(D) QLrg, CurelGuim, el -Limi(

0°C 555 Geapeurer Qauliuflasaenw’s -

Qup veflés’ g e Gemeu@pd oTHS.

el CergsliLOADgI?
(A) Nacl
(B) NH.Cl
(C)  KOH

(D)  Guopsmdlul enarsgio
(XvZ]




-64.

65.

Identify the sequence of events given
below and select the option which
gives the correct chronology.

) - Cripps Mission

(ii) Wavell Plan

(1ii) Quit India Movement

(iv) - Cabinet Mission

Options :

&) @, @), (1), Gv)
(B (), @), (v), (i)

(© @), Gib), G, 6)
) (), @), ), (v)

Identify the leader of the Sepoy

Mutiny who was elected by the"

Mutinous 229 Native Infantry as

their leader and who fought in the

famous battle of Chinhat in _wh_ich the
British forces under Henry Lawrence

were defoatoed

(A) Nana Sahib

B Kunwar Singh

- ()  Shah Mal

(D) Maulvi Ahinadullah Shah

XYZ]

- 64,

. 65,

&G Qer@estur L e e el
giflwren sneeuflens (PEnDEnLIs:
saTLflweyd. sfurer srer euflensenus

Qamugpd eflgpliug Careyaalla Bmbs '

Cain0sHasea|b.
L AN Gy aumas

{Cripps Mission)
)  Geueud S b (Wavell Plan).

(i) Glmmgmmmcm - QeafiGuimy
JEIRE A {(Quit India
Movefnent) |

(iv) smlar’ @ e mns
(Cabinet Mission)

elimlitg G meygseT : -
) 0, GiD), ), @)

@) (), Gi); (v, (iii)

(O) (), Gid), i), ()

D) (id), G0, (), Gv)

22 ganrliLieni & aﬁ]errr'réé]mrrmr’raiémeb
BEOOGITTE Gg;ﬁﬁ,@g@é;a;uﬁl;@m@m,
Samn_aréirgryt Listpaumiyies GLmfe,
Qamend eorgemedan SLp 198114 6ly
uenL_ullastang s Gg,rrgi)&l;q_gg GU(IHLD TN

A i | mavnG genedflar Qi

eraimen?
An) prrsﬁrr &rf@_rb‘lﬁ
(B) &eeui A

(C)  agwiome

(D) Qurersh SI@mOGR@T aqr




66.

67.

68.

Recently the Mars Science Laboratory ~ 66.

Mission -~ of NASA  successfully
delivered its rover on the surface of
the Mars on 6th August 2012. Name
the rover. '

(A) Insight

(B) Opportunity
(C)y Curiocty
(D} Odyssey

During this years Independence Day 67.

Speech Prime Minister congratulated
the scientists and the technologists
for the following success.

(A) Testing Agni V Missile and
- Launching RISAT-I Satellite

(B) -Testing Agni IV Missile and

Launching RISAT-II Satellite

(C) Testing Agni III Missile and

Launching RISAT-IIT Satellite

(D) - Testing Agni VI Missile and
- Launching RISAT-IV Satellite

Name the Actor who ‘has been 68.

recently sele_ctéd for the Dadasaheb
Phalke Award for his lifetime
contribution to Indian Cinema.

(A) Hrishikosh Mukherj ee
(B) Shyam Benegal

(C) | Soumitra Chatterjee

(D} . Mirnal Sen

31

slugdien NASA-eflear + LDITITGI
=iflefuic pliaus - @wided
Geupdlsmons ogen Gasmes (D)
Qecueumis  dHrangdlen  Cuopuridne
6™ geav@ 2012-& eglitlug Sibg
Elevadlar G ereme?

A  perangl

(B) spoursefliyg

(C)  suyfwrdlig

D)  @red

@by L sspdly Harbsearn Gpso
widf  oPlefluwdlieiaar | HpD
Qamdler HIL U eudglariamarn tSlamalm
eribg CeupBlasna ampgdia Gudlermi?
A) osafll V geysenewrg Cemsenar
' ‘wimd RISAT-I Qewpans Gamer
Bmioygd ,
B) sisaR IV goyseoens Gamgenan
opmd  RISAT-II  Aawhens
Carer Hipiayse |
(Cy =&afl III geqascme&ré CS&rrg,amém
~wpgd  RISAT-UT  dswpenss
Gamer Hlme)se

(D) ssall VI geyseens Gengenen -

“wpmd  RISAT-IV  Geupeass
- Ganer figiaysed

B Seorigsenie ampprer
prpaugioner  ubisellndpsns . SreT
FrCems uaDGs -mEpens
Coib@AsBESIILL Hig T WLmT?
() fefGarey apsirgd

(B)  afumh Guiaisd

7 (8] GGT\)G‘ITLlfﬂglj‘ﬂ'EI'_I_I';I'%]_

D) Wbirered Qean

XYZ] .




69. What is 35% of a number, if 12 is 15%. 69. om | eramranflgn  15% 12 erafled,

" of that number? SisvQeueiranilen 35% eratran?
&) 28 o) 28
® 12 ®B) 12
© 5 : © 5
D) 33 - | ' D) 33
70. If x—y=3 and xy =10, then wlh_at is 70. x-y=3 womb  xy=10 eafid
the value of x® —y%7 | - &t — % iy eréman?
(A 27 ' : A 27 .
® 100 | ® 100
© 117 | © 117
@) 127 . ' D) 127

71. What is the probability that a Leap Tl gm0 eupLgdled 53 @ruinmié

Year selected at random will contain - Alp@wseT  uREUSHETET  GUMLILILISET
53 Sundays‘? . TlaleTe,? ‘
(A) - 1/7 B o Ay 17
_(B) 277 . By 217
© 47 o ' L © AT
Dy &/7 : _ (D) 5/7
L T ¥ x? y? o
72.. By. simplifying R o 4 72 e g, - y“. —8 améSlarmed
what will you get?. - . _ GTenTGH ﬁml;éi@ﬂ)?
| 1 - 1 |
GV X2 — 2. ‘ . ‘ (A) N e
' 1 1
B B
( ) x2 +y2 ( ) xz +y2
' 1 ' , 1
1 1
D D '
® ® oo

XYZ] - 82 | B D




73.

74.

758.

®)

Which of the following facts on Ganga
Express Way 1s not true?

(A)  Will connect Gre_ater Noida to
Ballia along the Ganga

Construction work  of the
Express Way is in progress and
70% of the work is completed

{B)

© ract:
to Jaypee Infratech Pvt. Ltd. -

The contract has been awarded
under the Public. Private
Partnership Model

(D)

Out of the various phases of the
transportation infrastructure project
of Western Freeway, name the first
phase of the

- completed.

(A) -Bandra Worli Sea Link
(B) Worli Haji Ali Sea Link

(C) Bandra Versova Section

(D) Nariman Point-Haji Ali Section

Which of the following have been
announced as the state bird, state

The contract has heen awarded.

project which is

animal, state flower and state tree of

Puducherry? _
(A) Koel, Squirrel, Nagalingam and
Vilvam respectively :

Cock, Rabbit, Lotus and Neem

respectively ' '

(C) Koel, Rabbit, Nagalingam - and
- Neem respectively

(D) Cock, Squirrel, Lotus and

Vilvam respectively ' o

33

73.

74.

75.

(A)

amgnr eflenge| et (Ganga Express
Way) Qgm_frurar déau(hid
FaDDIGEEHETHET ©_GITENLOLICDGMTSE GTE!?
ARGy Qpmi e edl(miha)
urrcﬁ]u_l_rreinm BRGNS
aanpQuITTwas GleneamrdgLd
fenpey  eufulan s Homers
Liguf] QsrLfihgl BL g
Qararrg.madlng  70%  Geuanew
P bEIeI L g

Gl @emelipnGli_g  tanrCaul_
SO -6@ Sps  GUUBSD
Qarpésliu L g :
LOOHMILD
L Lamans wrdfufer &p Qs
UGBS erpLiL (Reeng)

B)

(©)

(D) Gurg gaflwimm

Glaent. mem ool FCau (Western
Freeway)-en GurhE e ISy
e lsLemnling Sl Lghear uwCoum
Beaseser, HLshear (pgssiulL
pged Hlaneoufterr QL eratica?

(A)  umpgsyr Geunmell sL6b @)enamrti|

(B) Geuriell  ammedl el sLD
(Semamriat - :

) unﬁﬁ,un@mﬁ@wwmﬁ L

(D)

-pilser ure-anmedlee LEH

Sipsmanmcupmiet  ereney L IFGaf
wrflell upame, efleibi, Wl WHTID
Wwyrs feilEauHareang ?

A wponlu - @@d, e,
BraaSltIsD wHmh efldaid
(B) apanpCui Geaud, (pwed, Hoany
' WwHmILb Geuthy |
©  anGu G, (PG,
Braeditish whmnb Geutbly
D) qpeopCu Geared, siala, srweny

WHmb efleebd

XYZ]




76.  Match the following words with their 6. Qameumn: erhaEns@ms Olas sflumen

‘exact meaning and select the correct  Quagener  Gar@&siiu L eQ@miLg
answer from the options given. Cairaymefld .. Bsis  CoiBOsHHs
| QuIrmSSe]D. |
(i} Curous (1) Curious
{(a) The most natural l "(a) The most natural .
term for something . term for something
that is not expected that 1s not expected
or is hard to S | -~ or is hard to
understand or explain : understand or
explain
(i) Strange (i) Strange
{b) Denotes a stronger _ (b) Denotes a stronger
sense of puzzleinent gense of puzzlemenf :
(i) Odd _ @iii) Odd
() Suggest that one (¢) Suggest that one
' finds it not only : - finds it not only -
strange or puzzling ‘ o strange or puzzling
but also interesting o but also interesting
Options : f . efl(LIUS CaiTaysar :
@A) @ -b, G-, Gi) - a @ @b, (@) -c Gi)-a
B @) -c @) —a Giy-b  ® @-c G)-a,Gi)-b
(© @-a @b, (@{)-c © @-a @-bG)-c
D @=c, (i) —b, (i) — a . D) €0)—c, (i) —b; (i) —a

[XYZ]. : | 34 | | .




77.

78.

79.

80.

Which of the following metals are
present in the Bimetallic strip that
can be used in a thermostat to break
an electrical circuit?

(A)
(B)
(€)
D)

fron and Cobalt
Iron and Nickel
Iron and Brass

Tron and Coppe_r

What is the name of hot, dry wind in
Rocky mountains which is also called
snow eater?

A)
B)
©
I

- Joehn
Siroceo
Chinook
Purga

Which of the following sect is not as a
result of the division of Buddhism?

(A)

3.

(C)

(D)

Sthavirvadin
Mahasanghika
Aparigraha

Vajrayana

Match the_Parf of the constitution
with' the Subject it deals with and

-select the correct answer from the

options. _
(i) Partlll (a) Union-
(i) PartIV (b) Fundamental
S Rights
Directive

(i) PartV  (c)

Principles of
-State Poliey

(iv) PartVI (d) State

Options : : :
(A) (@) —b, (i) —a, (i) —d, Gv)—¢
B) G-a @-c Gi)—b ) -d .
(© (@ —c, ()—bh, Gi)—a, v)—d
D) () —Db, i) —c, Gii)—a, (v)—d
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78.

79.

80.

m  Oaapen  apflEss Fniqul
@g,r'rGL-orrGfmAm;u}é) LIUGITLIL S lg it
eoUGlolLmells  ulepLule eahlsEs
o Geonsld 2 dramg|?

(A} @esby, Carumél

(B) E)miby, Béad
(©)  @midyy, Gggamaen

- M) @moy, grdpo

Tnadl wenaasaiid ual o emanh srHm

erempenp&sILEL  (Snow  eater)
(@I, 2 et &rmmlen GuwT eremen?

(A)  CerG@uen (Joehn)

(B) #8GyrsCGam (Sirocco)

(C) &enggns (Chinook)

I yisr (Purga)

&@S&WL@J{D@G& L;Q,g,mg{,ﬁ,{{fﬂﬁh s
Eleoengg arg?

(A)  evgelliteumgen (Sthavirvadin)
(B) wenrsmiflsr (Mahasanghika)
©)  ufsranm (Aparigraha)

(D) m@urﬁus‘mrr (Vajrayana)

grfueemodyl - GflejLer  oigear

Qemufyerw  Qummgenar  sflwner
el _eous CaipOsHaaen
Q) uedIl () welucr
(i) ugdlV (b)) =qiue
' : © o flenser
() ugdV Q) opder Coyigs

Qarédrengsar |

- (iv) U@QVI (d) wrhlen

allplILIECaTay seir : 7

(A) @) -b, (@) —a, (i)—d,v)-c
By () —a, (ii) —¢, (iii) — b, (iv) —d
(@) (i) —ec, (i) —b, [ii) — a, (iv)~d
(DY @) —b, (i) =, (i) —a, (iv)—d

XYZ]




81.

82.

®)

©

@)

Which of the following is not true
about the Employment Guarantee Act
of 20057

(A) The act was passed by the Govt.
 as per the advice of the National
Advisory Council

Every household in rural India
will have a right to at least
100 days of guaranteed
employment every year for at
least one adult member

®)

Work should be provided within
fifteen days of demanding it

©

If work is not provided within
the given time, the person will
be - paid unemployment

“allowance which - should be
atleast one half of the MIiNIrun
wages :

)

Which of the followmg fact is not true
of Finance Commission?

(A) Makes recommendatlon,in
respect of the distribution of the
net proceeds of taxes to be
shared between the Un10n and
the States

Recommends the principles that
should govern the payment of

grants in aid by the Centre to,

thé States

Gives recommendation on any
other matter' concerning financial
relations between the Centre and
" the States

Flnancé Commission - is
constituted under Article 290 of
the Indian constitution

[XYZ]
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4.

(i) Similipal

Match the tribes with the states they |
are present and choose the correct
answer from the given options.
() Khasis  (a) Bihar,
Odisha
(1) Mundas (b} Andaman
-and Nicobar
_ Islands
(iii} Shompens {¢) Assam,
Megalaya
Options :
Ay @ —c, (1) —a, Qn) — b :
B) @ -b, {)—c @) —a
(C) (1) —a, @)—~b, (i) —¢
M) @@ -b, 1) —a, (i) —c
Match  the | iollowm;gr Biosphere

reserves with their Iocation. Select
the correct answer from the options
given

(1}  Nokrek _
(a) Part of North.
and ‘west
Sikkim

(b) Part of Siang .
and Debang
Valley in
Arunachal
Pradesh

(iit) Dihang Dibang

(¢) Partof
Garo Hills
{(Meghalaya)

(iv) Kanchenjunga

(d Partof
Mayurbhanj
digtrict
{Orissa)

Options

(A) ()—c, (D) - d (m) b, (1V) —a

B @ ~d,§{)—a, (i) — b iv) - ¢

(Cy ()—a, G)-h, G —d, Giv)—e

D) () -c, i) - d, iD= u, (9)—
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&G Qar®asiu  worflakaerL e

LpriG g afargensl Aummad!

aflgpliugCaiasart el mhiba aflwimes

eflenLanit Gamhbls s,

1)  smedlen (@) Sapn,
{(Khasis) el G

(1)  qaperimev  (b) SibBsmET,
{Mundas) BGaTLnT

' - Sayser

(iii) Cagmb {¢) =26v@mD,

K Giashen Guosmeowr

(Shompens)

mpLug Cairayser :

A @) —c, (i)—a, @i)-b

B) @O-hb,{)—c, (i)—a

) (G)—a, (1) -b, (i) —c

(D) @) —h, (i) —a, (i) —c

Qemeumid 2 uflews  Gamerliugig)

Ugdlamar eundlen ennellL_ gL e
QU &Hi. Hemeu@sd  eSlpLILS

- Coireyseflalmmg  sfwrar aﬁ]em_smu_lg,

Gaip0ls P aaeD.
) mBreCrs
- (a)  fsddiar AULES
HmILD Cupgl -
LGS s '

(i)  Ablediumed
' () imemTTEFLs :
lS]rJ(Sg,E{é,ﬁGﬁr Sl
DD I 1 41T
sinldeuatlts u@‘;_ﬂaserr

(iii) Lq.@ﬂ'l‘ﬁj I LT
(¢} Cuamowreis
- &Gy @ebrall -
: Li@Saar o
(iv) o@pren gmusr
(d) eflevraiten
Loyp M Teg
wieul g
‘ LiGElear
efipliug Coira gar : '

(A @) e, () —d, (i) —b, (v)—a

B) (@) ~4d, {i)—a, @)—b, (iv)—c

{C) @-—a, 1) b, @)-d,Gv) ¢

D) () —e, §i)~d, () —a, (iv) —
[XYZ]




85.

Which of the following name do noL
refer to Rajendra Chola I?

' (A) Mudikonda Cholan

(B) Cholendra Simman

(C) Mummudi Cholan

" (D) Panditha Cholan

86.

Farmers selling their product directly
increase their income. Direct selling
arrangement for farmers made in
various places are given below. Match
the following and select the correct
answer from the options given

(i) Apni Madni
{a) Andhra Pradesh
(i) Rythu Bazar

(b) Punjab, Haryana and
Rajasthan ' :

(i11) | Ugzhavar Sandai

© Pune
(iv) Hadsapar Mandi
(@ Temil Nadu
Options :
@ @ -e ) —d, i) - b, (w) ~a
(B) (i)—c, (i) - a, @ii) —d, (W) b -
(©) (i‘)'~a, (i) — d, (iii) — b, (iv) — ¢

D) @) ~b, Gi)-a, (i) —d, @) ~c

XYZ] 38

383.

86.

pamd jrlamidly CE&eranUé; GO SETS

 Quwir SlemaumeusneuHmsT 6T g7

(A) @L:F‘Gé;frmn‘_ Camipenr
B) ConCundly Sibwer
(9] (y)L'[)(I;pl.q_f} Gamper -

(D)  uweirigs Gemipasr

efleugmullger  GummLaamer  GHriquITs.

eSlhm S| THETS)
oflsfsfament. QumrmLsener
Comgwrs goum()
aeuamllsEnsE oGaumn Gk misafld
. 3|eudenmL
eflgniiag

dlp@n

Qe (Rerearg)
G yid Gedieui(iylis
GCareysaflallmhHa) Jrﬂu_lrreo'r a‘ﬂ@m_mm‘e_r,
Caipbls{Hdasaib.

(1)  ouafl s

(8)  pHrinigGaan

(1) enpdgl LT

(b) LIgheL, anflwmere

. prggegmen
(i) eipeul FHNG
© yerr
(iv)  anL s e
@  slppr@
afmLiLg (‘S‘e_r,r'rma;eir :

B G -c G)-a, i) -d @) -b

Q) (-4, ()—d, @) -b, @iv)—c

D)y @—Db, (i) —a, () ~d, (v)—c

D
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Which of the followmg is not true of
Solar Eclipse?

(AY It always occurs on a New Moon
Day

(B} During the final moment
“Diamond Ring” formation occurs

(C) It occurs when the Earth comes
between the Sun and the Moon

() Looking the Sun directly will
damage the retina of the eye

Match the following and select the
correct answer from the options given.

(1)  Mumbai Port _
(a) Itis a tidal port and
' requires constant
dredging

(i) Kandla Port
(b) -Itis a natural harbour
and is the biggest in
the country

(iii) Kolkata Port
{(¢) Itis the deepest
landlocked and
protected port

(iv) Visakapatnam Port =
(d) The first port
developed soon after
the independence

Optidne :

(A @®-Db, (-4, () —c ) -a

@ (@ —c, @) ~d, @) ~a, Gv)-b
(C) () —b, () -d, (i) —a, Gv)-c.
Dy (i) — d (i) — b, (i) — ¢, (_iv) —u
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@M Arsamgeng LBl Gérmemn

Qaiflsafles arg Quuiwice?

(&) @& elumpgid  SioTeunens
Berd gy PopHvg:

(B) sa_flds gl “aaly
aienaTiL’ 2 (heurEsD Hlapdng

O mRluays@h, spdlrapsegn

C - @ Ll eumbCuing
Blapding|

(D) @M Gy wns urrrrg,g,rrm

samanflan edflgdlenr
urdlasiuE&Ens)

QanpastulL. flmaug Cameysefld
EwHg aflwimer
Caiib@sBEaI1 AuUrGEsaL
(i)  @pbepL GlEnDIPSLD
@) @8 o CGuwe gbp
. Bpéss gleoppsid,
- Bede Hgrhsl
DG VIS0
‘ Siaudunn
() smemer geanpsn
b) B8 oG Juowss
SIENDHNSLD.
s g GaxGw s
Quiiw glemnpsnd
(iii) QETHEEFT FIEDAPSHLD
(©) @& & plplomen
“nﬂmggﬁab @lpraL L,
LT STHSUILIL L
BODpsID

(iv) aﬁlmrasuu I &TD FIEODLHSLD

(@) sspdrsdde G

D L GG LIS a.IGTi'ITHﬂ

Aup psad
lapppSLD
allmiing Garayser

(A) (1) —Db, (i) —d, (iii) —¢, (1V) a
B) (@) —ec, ()—d, (i) —a, @v)—b
(€ @) —b, Gi)— d, (i) - a, (iv) — ¢
@) @ -d, (@) -b, (i) - ¢, (V) ~a
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89. What will - be the correct angle
between the hands of a clock at
8.15 a.m.?

(A)  150°
® 157:5°
© 160°

(D) 167.5°

90. Tf2x2-3 4x4=10 and 6 x 6= 21,
what 1s 8 x 87 '
A 30
(B) 36
© 32
D) 40

91. The sum of the square of three
consecutive number is equal to the
number of days of a year. Find the

numbers.
@) 67,8
®) 8,910
© 10,11, 12
M) 11,12, 13

92, Hlxp.re.s._c_; the spged of 20 metre per
second in kilometer per hour.
(A) 172 km/hr
(B). 120 ]tlllulﬂl'.l'.-
(Cy 12 kin/hr
(D) 72 km/hr

XYZ] - 40
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92,

asrened 8.15 werll&EE, @ sqanyddler
(WL&6T eThEE Garamsass aT_(Hb?

-(A) 150°

(B) -157.5°
©  160°

(D) 167.5°

2x2=8, 4x4=10, 6x6=21

mdrr@rrd} 8x87
(A) 30
(B) 36

© 82

D) 40

ELAGD) Ggm_r'ré:éﬂmrrm cratraafesn
anidahsaller mbzd G amLsHdr
Bl saflar  cramafEmag@s b,

Sjeuldeusirenawrd: Gem(RLlig.E&ayb.

Ay 6738

B) 809,10
© 10,11, 12

(D) 11,12, 13

20 15/ aflemmy. Geumbans .18/ inanflidle
QazfefEmab.,

(A 172 £.8/wenf

(B) 120 H.10/ ool
(©) 12 &/ ipanh
D) 72 £.8/waerfl "
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94.

India 1s situated in -the Northern -
Hemisphere of the Earth between

(A) 84 and 3756' Northern Latitude

and  68°7" and 97°2' East
Longitude

(B) 8°' and 37°4" Northern Latitude

~and ~ 67°8 and 96°2" East

Longitude _

(C) 8°3 and 37°8 Northern Latitude
and 66°8" and 97°2' East
Longitude

(D) 8°6" and 39°4" Northern Latitude

' and 64°6" and 96°3' East
TLongitude

Match the following and select the
correct answer from the options piven
below :
(i) Rohilkhand Plain
. (a) The Worlds oldest
folded mountains
running in the North
East to South West
direction from Delhi

(iiy Sahyadris -
(b) Liesentirely in UP,
east of Ganga Yamuna
. Doab

| (iii)" Aravalli Range

(¢) Thalghat, Bhorghat
and Palghat are
three important

.. passes here

Options :

(A) @ —c G)—a G@)-b

B @-—Db, {)—c {i)—a
(€©) @) —b, Gi)—a, Gi)—c

D)y @ -a, @)~c @©)-b
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(LSS et

QULEG  mTEGsTETSSl
Bpun )
Slensalul (e . '
(A) 84" wpmb 376 alswy
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(C) 83 wpmb 37°8 Ly
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97°2 Hlipsg Srés Crens '
(D) 8°6" wihmb  39°4  eaLsg
oILsGrens wHDD 64°6" womb.
96°3" flipsig Srés Crans
Speusueupere  Qummsd, Dereumid

emiingCaiaiselidy @mmg sfwmer

- dllenenwg Carhllshides :
@ Corafledsem . sibae
{a)  iyeeSlulien
auL_Slpadler @ (mHs
QuenGinn @ Hana
Cpréhis edwaid

- 2 adler uamipu
o ‘WDl tIL] DENOSET
(i)  sepwnsféadr ,
(b)  stiems  wpmansg
‘ Sip& &gy eirer
@lepLu L
Blovgsle,
-2 5Py nGaesdler
(LP(peUgILDITET ’
LgeufmiLg
(iii) prerdel aneSEETT
~{e)  sméarl, Cumist_
. IDHMID LimedamL
2 Hwenen @i@arer
apenm pEELE
. ' FHERTEU ML SET
elmuLECaTe,sen : :

) D -c ()-a, (i) -b

B) @ —b, i) -c, (ii) - a
©€) @-b G)—a (i)-c

@) O-a, (o, )~ b
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96.

Match the following places with their .
temples and select the correct
answers from the options :

(1) Kanchipuram
(a) Kailasha temple
(i) Ellora

(b). Kandariya
Mahadeva temple

(iii) Deogarh

. {c) Kailasanath templé -
(iv) Khajuraho ‘ '
' - (d)° Gupta Temple
Options : o
(A () —a, (i) —¢, (i) —d, (@v) ~b
@) @ —c G)—d, () ~a, @v) ~b
€ @ -4, G)—c {ii) —a, (iv)-b -
O @ —c, Gi)—a, (i) —d, Gv) = b

Arrange  thé following in correct

‘chronology and select the correct

answer from the options :

() Lord Mountbatten was

appointed viceroy of India

(i) 'The congress formed the interim
Government

(ili) Mountbatten presented a plan

-+ for division of India

(iv)  The British Govt. announced'
that they will transfer power to
Indian hands not latter than
June 1948 _

Options :

@A) Gi), ), (i), (111)

®) @, Gib), G), (v)
(€ @), i), @), @)
D) @), Gv), (i), {i) -
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9-6.
. peemuda euflanstiu@Bdseyb. W mib

)

Aléimeu(pid Gl umenen <O B @ ETerT
Gamuliers e Leir QLS se|D.
Qeiramid efmaug Caireysatled @) mba
aflwiran eflent_awsg Caih i sHdsan.
(1) smgpdlygb

(a) esarssrgi Camufld
(1)  ereGermpm

(b)  eme_fw wenrCgeurn

Gamuiled C

(i) qCumst

(€} as@TF BT
(iv) srbynGanm

d) @EugTt Carld
eRqpLiLg Careyser
(A (1) —a, (1) —e¢, (i) —d, (w) b
B O—c G)-~d, 3G —a, iv)—hb
(Cy (@) —d, (i) —c, ({ii)—a, Gv)—b -
D) (@)-c, @)—a @)-4d, Gv)-b

Hereimeueainannd  sma  euflans

eSlmigGarasatiey - @mbg  eflwner

alanLenwis CaihElsHaa|lb.
@ @pdwureie eneuflmuirs
 Quogmer. - Gui Caw Sy
AT EL AW TR
() Qe Gare. sirens sy
o meursHwg
(i) @edwraler.  Gflatmaissmear
Al _geons QLDGﬂGUH_(BuL_LGuT Ay
GuLprarElenmT
0 Oew 1948-5 (PEHTRTITED.
ANy Sipe,  oilamrsos
B SHwiiaar. ' ~angsafled
Ul &s Gurmeugsrs
, Siflefl55g.
el Caireser :
(A (@), (), (iv), (iii)
By W), i), G1), Gv)
(©) (i), Gi), (), (iv)
D) @), @v), Gid), (i)
D




97. What is the expansion of VSAT?

98.

(A) Visual Satellite
(BY Virtual Satellite |
(C) Visual Sound Apf)lied Terminal

(> .Very_ Small Aperture Terminal

Which of the statements are correct
on the Nobel Prize Winners? Select
the correct answer from the options -

given.below :

(i) Amartya Sen won Nobel Prize in

Chemistry

(i) Hargobind Khorana won Nobel

Prize in Medicine

Venkatraman Ramakrishna won

(iii)
Nobel Prize in Zoology

(ivj Subramaniyan Chandrasekar

won Nobel Prize in Physics

‘Options :

(A) (@) and (i)

‘®)  Gi) and (i)

(C) () and (v)
(D) (i) and Gv)
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98.

VSAT - sllfleungsld eranem?

(A) Visual Satellite

M) Virtual Satellite

(C)- Visual Sound Applied Terrﬁinal

() Verjr_Small Aperture Terminal '

Grrud Lifle Gleuampauiaanantl L dlw
ah;i)rcmaséfﬂs.b GTQJ sflwunengy?
EPEQBIRESILL L aftpiiLig

Gareyselar @mbg  sfurear - afleni

CaipReHEseld

@)  wisHur Qe
G'@Jﬁld_ﬁ]m@_{&&;nﬂ; Grmué Lifla
 Qauenpi

(i) apiCemAs @yram
whsseusEDsTs Crmue Lifls

Gleuswmm
(111) QG)JI‘E.IBH;I]TTLD.G&I. jnmaﬂ@@'amn
Aais@ugissts  Crmud ufls
, 'Gmé’ﬁrﬁ)m’r ) -
(iv) &ﬂummﬂush&;’r;ﬁg@&a;r‘r )
' QupGwansarar GCrrued uflans
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miILE Caiaedr:

@) 6 wpgd G

B) (i) wppid (i)
(© @ wpgd (V)

(D) (i) wppis (iv)
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97. What is the expansion of VSAT?

98,

(A)
B)
©)
D)

Visual Satellite
Virtual Satellite
Visual Sound App],ied Terminal

-Very Small Aperture Terminal

Whieh of the statements are correct

on the No,bel Prize Winners? Select

the correct answer from the obtions

given.below :

e

(if)

Amartya Sen wbn Nobel Prize in
Chemistry '
Hargobind Khorana won Ngbel
Prize in Medicine '
(iii) Venkatraman Ramakrishna won.
* Nobel Prize in Zoology
(ivj Subramaniyan Chandrasekar
won Nobel Prize in Physics '
"Options : .
(A)  G) and (i)
“®) (i) and Gii)
© @ and Gv)
(D) (i) and (v)

43
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98.

VSAT - ellifieuréasin eresmen?

(A) Visual Satellite

(B) Virtual Satellite

(©) Visual Sound Applied Terminal
D) Very Small Aperture Terminal
Crrud s Qeuciimeuirsanens L

sbpiEafld e sflmang?

EpsQanpasiulL ellBLILIG |

Coraysaildy @@Eng shuma - el

GairhGlas s : . ‘

)  owigdumdear
(Bsugﬂuﬁ]u._@]é;&:rré;_ Grmue Lifla
.@a.sémpﬁr’r | -

(1)  epiGemilbs ‘@ITH'GGTIT

wmSGlesHbens Corud ufls
Qeusmpmt
(1) Gimréjasl;unméisr' jnmé\@dq,mﬂrr
AMondugissrs  Croud ufls
, Qms’mbnﬁ . -
(iv) slgwafluer snfyCeam .V
' Quiptugissrar Crnud Lflams
-Qmeﬁpjrrﬁ '
arﬂ@uugl(ﬁgr’rma;m‘:

B G) wpmid i)

B) (i) whmd Gii)

(O () wpmd (V)

D) (i) whmd @)
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